
●

●
●

●

●

●
●

●
●

●
●

●
●●

●●
●●●●●●●

●●

●
●●●●●

●●●
●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●●

− log10(Expected P−values)

−
lo

g 1
0(O

bs
er

ve
d 

P
−

va
lu

es
)

0 1 2

0
1

2
QQ Plot



●
●●

●

●

●

●●

●

●
●

●● ●
●

●

●

●

●

● ●
●●

●
● ●

●
● ●

●

●

● ●●
●

●

●

●

●

●
●

●●

●

●
●

●●

●

●
●

●

●

●●

●

●

● ●●
●

●
●

●
●

●

●

●●
●

● ●

●
●

●

●●
●●

● ●

●

●

●

●

●●

●

●

●
●●

●●●

●

●
●

●
●

●
●

●

●

●

●●

●
●

●

Chromosome

−
lo

g 1
0(P

−
va

lu
e)

0
1

2
3

4

1 2 3 4 5 6 7 8 9 10 11

●
●●

●

●

●

●●

●

●
●

●● ●
●

●

●

●

●

● ●
●●

●
● ●

●
● ●

●

●

● ●●
●

●

●

●

●

●
●

●●

●

●
●

●●

●

●
●

●

●

●●

●

●

● ●●
●

●
●

●
●

●

●

●●
●

● ●

●
●

●

●●
●●

● ●

●

●

●

●

●●

●

●

●
●●

●●●

●

●
●

●
●

●
●

●

●

●

●●

●
●

●

● UML.omnibus.pvalue CML.omnibus.pvalue EB.omnibus.pvalue

●

●

●

●
●

●●

●

●● ●

●

●●●

●
●●

●

●

●

●
●●

●
●

●

●

●
●

●
● ●●
●

●

●

●

●

● ●● ●

●●
●

●

●

●● ●

●

●

●●● ●
●●●
●

●

●

●

●

●

●

●

●

●
●
●
●

●

●

●

●

●

●●

●●

●●
● ●

●

● ●

●

●

●●
●

●

●●
●●● ●● ●

●

●
●

●
●

●

●
●●

●●●

●

●

●

●

●

Chromosome

−
lo

g 1
0(P

−
va

lu
e)

0
1

2
3

4

12 13 14 15 16 17 18 19 20 21 X

●

●

●

●
●

●●

●

●● ●

●

●●●

●
●●

●

●

●

●
●●

●
●

●

●

●
●

●
● ●●
●

●

●

●

●

● ●● ●

●●
●

●

●

●● ●

●

●

●●● ●
●●●
●

●

●

●

●

●

●

●

●

●
●
●
●

●

●

●

●

●

●●

●●

●●
● ●

●

● ●

●

●

●●
●

●

●●
●●● ●● ●

●

●
●

●
●

●

●
●●

●●●

●

●

●

●

●

● UML.omnibus.pvalue CML.omnibus.pvalue EB.omnibus.pvalue


